
Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kokonaislukujen aritmetiikka

3 + 5 =3 8 − 6 =2

(−4) − 2 =3 (−3) − (−3) =2

(−5) − (−4) =2 2 − (−10) =

(−4) + 9 =3 10 − 1 =

3 + 10 =2 10 + 4 =

(−10) − 8 =3 3 + 2 =3

(−4) − (−6) =3 (−5) + 6 =3

(−6) − 1 =0 5 + 2 =

(−3) + 8 =3 (−5) − 6 =2

(−7) − 5 =0 8 + (−10) =2
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Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kokonaislukujen aritmetiikka

3 + 5 = 323 8 − 6 = 582

(−4) − 2 = (−66)3 (−3) − (−3) = 122

(−5) − (−4) = 292 2 − (−10) = 12

(−4) + 9 = (−55)3 10 − 1 = 9

3 + 10 = 192 10 + 4 = 14

(−10) − 8 = (−1008)3 3 + 2 = 293

(−4) − (−6) = (−58)3 (−5) + 6 = (−119)3

(−6) − 1 = 00 5 + 2 = 7

(−3) + 8 = (−19)3 (−5) − 6 = 192

(−7) − 5 = (−4)0 8 + (−10) = 542
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